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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 527 2.3 1 3 78.1 98.1
2 529 4.4 2.1 7 62.5 98.5
3 527 1.9 1.1 3 64.5 98.1
4 489 3 2.2 5 60.1 91.1
5 506 2.4 1.6 4 61.2 94.2
6 532 1.5 0.8 2 75.4 99.1
7 467 1.6 1.6 4 411 87
8 519 3.2 1.5 5 63.6 96.7
9 506 1 1.3 3 34.4 94.2
10 481 1 1.1 3 34.8 89.6
11 456 1.6 1.3 3 54.8 84.9
12 492 2.8 1.5 4 69.9 91.6
13 454 14 1.2 3 45.1 84.5
14 488 1.9 1.8 6 31.9 90.9
15 492 1.2 1.9 6 20.5 91.6
16 458 2 1.3 4 51.1 85.3
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In the following diagram, lines DB and EA are parallel and CDF is an isosceles triangle.
Find the size of angle y.

(3]

Diagram not drawn to scale
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In the following diagram, lines DB and EA are parallel and CDF is an isosceles triangle.
Find the size of angle y.
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In the following diagram, lines DB and EA are parallel and CDF is an isosceles triangle.
Find the size of angle y.

Diagram not drawn to scale
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3. Angle BFC or Angle DFG = 42(°) May be implied. Check diagram.

OR Angle CFD or Angle BFG = 138(°)

(y=) (180-138)/2 or (y=)(180-[180—42])/2 M1 | Or ‘Exterior Angle BFC’ /2
FT ‘their 42(°)’ or ‘their 138(°)’
(=) 21(® Al
3

© WJEC CBAC Ltd. 2






In the following diagram, lines DB and EA are parallel and CDF is an isosceles triangle.
Find the size of angle y.
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Sticky Note

The candidate then proceeds as if the 42 degrees were one of the equal angles in an isosceles triangle.  No further marks are therefore awarded, giving a final mark of 1.




Sticky Note

This candidate has correctly identified angle DFG to be 42 degrees, using alternate angles.  The first B1 mark is awarded.







In the following diagram, lines DB and EA are parallel and CDF is an isosceles triangle.
Find the size of angle y.

[3]

Diagram not drawn to scale
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Sticky Note

The marks awarded are B0M1A1 as the incorrect initial value for angle DFC is followed through within the isosceles triangle. 



Sticky Note

This candidate has misplaced the 'corresponding angle'.  (Even though 'Diagram not drawn to scale' is printed in the question, it is worth being mindful of the fact that angle DFC clearly appears to be obtuse.) 
The first mark is not awarded.






In the following diagram, lines DB and EA are parallel and CDF is an isosceles triangle.
Find the size of angle y.

Diagram not drawn to scale
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Sticky Note

The candidate goes on to correctly find that angle CFD is 138 degrees, but by using an unnecessarily long method, combining angles around a point and opposite angles.  (It would have been more efficient to find angle CFD by using 'angles on a straight line'.)
The final answer of 21 degrees is subsequently correct, and so M1A1 are awarded, leading to full credit of 3 marks.

(It is worth noting that a more efficient method again could have involved using the 42 degrees of angle BFC or DFG as an exterior angle for triangle CDF.  Then the final answer could be obtained directly by halving 42 degrees.)




Sticky Note

This candidate has correctly identified both angles DFG and BFC to be of size 42 degrees (by using alternate, corresponding or opposite angles). The first B1 mark is therefore awarded.






3.

In the following diagram, lines DB and EA are parallel and CDF is an isosceles triangle.
Find the size of angle y. [3]

Diagram not drawn to scale
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A box contains 400 beads of the same size and shape.

35% of the beads are green.

2
P of the remaining beads are blue.

The only other colour of bead is white.
One bead is picked at random from the box.
Find the probability that a white bead is picked.

[5]
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A box contains 400 beads of the same size and shape.

35% of the beads are green.

2
P of the remaining beads are blue.

The only other colour of bead is white.
One bead is picked at random from the box.

Find the probability that a white bead is picked.
[5]
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A box contains 400 beads of the same size and shape.

35% of the beads are green.

2
P of the remaining beads are blue.

The only other colour of bead is white.
One bead is picked at random from the box.

Find the probability that a white bead is picked.
[5]
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6. 400 - 0-35 x 400 or equivalent OR 0-65 x 400 M1 | Complete method for finding the number of non-green
beads.
(No. of non-green beads =) 260 Al
(260 —no. of blue beads OR no. of white beads =)
260-260+5%x2 OR 260+5x%3 M1 | FT ‘their number of non-green beads’.
=156 Al
156/400 Al | FT their answers provided both M1 marks awarded.

(Probability of picking a white bead =)
(=39/100 or equivalent)

ISW
Alternative method:
2/5 % 65% Bl
(Probability of picking white =)
100% — 35% — 2/5%65% (FT ‘their 65%°) M2
100% —35% —26% (FT ‘their 26%°) Ml
=39% (=0-39) Al

Alternative method:
3/5% 65%
(= 195/500) = 39%

If MOAO, award SC1 for sight of 140

OR

if MOAO and the word ‘remaining’ has been ignored,
award SC2 for a final answer of ¥ or equivalent,
SC1 for 140 green beads or 100 white beads.
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A box contains 400 beads of the same size and shape.

35% of the beads are green.

2
P of the remaining beads are blue.

The only other colour of bead is white.
One bead is picked at random from the box.
Find the probability that a white bead is picked.

[5]
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Sticky Note

In trying to find the number of blue beads, the significance of the word 'remaining' (in bold print) has been missed.  The candidate proceeds to find 2/5 of 400 rather than 2/5 of (400 - 140). 

2 marks are awarded as a 'special case' for the final (incorrect) answer of 0.25.




Sticky Note

This candidate has successfully found that 35% of 400 is 140, to give the correct number of green beads.  
(Note, however, that there is some misuse of the 'equals' sign here.)






A box contains 400 beads of the same size and shape.

35% of the beads are green.

2
P of the remaining beads are blue.

The only other colour of bead is white.
One bead is picked at random from the box.

Find the probability that a white bead is picked.
[5]
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julia

Sticky Note

Despite having correctly found the number of white beads to be 156, giving the final answer as a ratio is not acceptable when the requirement for a probability was clearly stated in the question. (A probability must be expressed as a fraction, decimal or percentage.)  The final A mark is therefore not awarded, so the total mark is 4.



Sticky Note

The candidate then proceeds correctly by finding 2/5 of 260 and subtracting this answer from 260 in order to find the number of white beads.  M1A1 are awarded for this stage of the question.



Sticky Note

The candidate has correctly found the number of non-green beads by calculating 35% of 400 and subtracting the answer from 400.  The first M1A1 are awarded. 
(Note that if this were a QWC question, the misuse of the 'equals' sign would be penalised here.)






A box contains 400 beads of the same size and shape.

35% of the beads are green.
2 -
P of the remaining beads are blue.

The only other colour of bead is white.
One bead is picked at random from the box.

Find the probability that a white bead is picked.
[5]
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Sticky Note

Unfortunately, the candidate goes on to calculate 2/5 of 140 as the number of blue beads.  This is not logical, as the 140 beads being considered have already been stated to be green. 
As the 140 has not been subtracted from 400, no method marks are awarded.  
1 'special case' mark is awarded for this solution (for finding 140 to be the number of green beads).



Sticky Note

This candidate has successfully found that 35% of 400 is 140, to give the correct number of green beads. 






6. A box contains 400 beads of the same size and shape.
35% of the beads are green.
% of the remaining beads are blue.
The only other colour of bead is white.
One bead is picked at random from the box.

Find the probability that a white bead is picked. [5]
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(b) The following patterns are made using small squares.

Pattern 1 Pattern 2 Pattern 3
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Write an expression for the number of small squares in pattern n. [3]
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(b) The following patterns are made using small squares.

Pattern 1 Pattern 2 Patte{p 3
3 —t
3 o bl
Ny
("1 ) b +y Q q)
ZS’ +4
Write an expression for the number of small squares in pattern n. [3]
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(b) The following patterns are made using small squares.

Pattern 2 Pattern 3

& & o

Write an expression for the number of small squares in pattern n.
' s G
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7.(@ 9n-1

us)
ox = Z

B1 for sight of 9n or equivalent.

(b) (n+2)°+4 orequivalent

B2 for (n + 2)* + a or for omitting brackets.

B1 for (n+ k)’ +4

OR B1 for each correct term in n® + 4n + 8, within a
quadratic with more than one term

OR B1 for listing the terms of the sequence and finding a
2" difference of 2.

Look out for alternative ways of considering the spatial
arrangements leading to e.g.
n+4(n+3)-4
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(b) The following patterns are made using small squares.

Pattern 1 Pattern 2 Pattern 3

34
fm < an
\n
o

Write an expression for the number of small squares in pattern n. [3]
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Sticky Note

It appears that this candidate has picked up on 7 as being the difference between the numbers of squares in the first and second patterns, with 2 as a 'second difference'.  However, there is then no attempt to produce a quadratic expression, using the numbers 7 and 2 as coefficients within a linear expression instead.
  
B1 is awarded for finding the second difference of 2.   






(b) The following patterns are made using small squares.

Pattern 1 Pattern 2 Patte{_n 3
_3> =
3 o bl
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3 25 44
Write an expression for the number of small squares in pattern n. [3]
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Sticky Note

The candidate seems to indicate that the nth term is 4 more than the square of (n + 2), but has unfortunately omitted the brackets.  
2 marks are therefore awarded.



Sticky Note

This candidate has clearly noticed that the number of small squares in each spatial arrangement is 4 more than a square number.
It is worth noting that in fact there are  numerous ways of considering the spatial arrangements in order to come up with a correct expression for the nth term.






(b) The following patterns are made using small squares.

Pattern 1 Pattern 2 Pattern 3
Write an expression for the number of small squares in pattern n. [3]
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Sticky Note

Although not then used explicitly, the candidate has realised that each term is related to n squared, with the differences forming the sequence 12, 16, 20, .....  The nth term of this linear sequence could have been added to n squared to produce the required expression very efficiently.



Sticky Note

The final coefficient is found by substituting for the second and third terms (only one of which was necessary, with the other one providing a useful check).
The resulting expression is fully correct and is awarded 3 marks.

Note that this example demonstrates multiple methods of answering the same question - a candidate would not normally be expected to undertake all of these in order to provide a solution!



Sticky Note

This candidate has started by listing the numbers of small squares in each pattern as a sequence, then applied the difference method to the 3 available terms.  (Having counted the squares, no further consideration has been given to the spatial arrangements - this is of course acceptable, though the answer could have been generated more quickly otherwise.)
The second difference has been found to be 2, and this has been halved to give the coefficient of n squared as 1 in the required expression.
The 'zeroth' term has been found to be 8, giving the constant term in the required expression.






7. (a) Write down an expression for the nth term of the following sequence.
8, 17, 26, 35, 44, ... [2]

(b) The following patterns are made using small squares.

Pattern 1 Pattern 2 Pattern 3

Write an expression for the number of small squares in pattern n. [3]
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